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Pegel Platten
Ereignis70, HQ 1
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Scheitelabfluss: 56,1 m3/s
60 60
/\ :
©
15 45'§ Q Ereignisbeginn: 12,6 md/s
E, Ereignisdauer: Std.
= Abflussbeiwert: 40 %
30 + - 30 =
[&]
4 N-Dauer: 3 T
. = aue. _ age
15 | . 15 @ max. N-intensitét: 20,7 mm/Tg
L 4 =z
¢ .
0 1 1 1 1 i —® -0
02.01.91 03.01.91 04.01.91 05.01.91 06.01.91 07.01.91 08.01.91 09.01.91 Vorfeuchte: hoch
Wetterlage: 9

Niederschlagsverteilung

EZG Pegel Platken
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unter 22,40
22,4 - 24,0
24,0 - 25,6
25,6 - 27,2
27,2 - 28,8
28,8 - 30,4
30,4 - 32,0
32,0 - 33,6
33,6 - 35,2
35,2 - 36,8
36,8 - 35,4
34,4 - 40,0
40,0 - 41,6
41,6 -43,2
43,2 - 44,8
44,5 - 46,4
46,4 - 45,0
45,0 - 49,6
49,6 - 51,2
51,2-52,5
dber 52,80




